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Master 6.1a
Activate Prior Learning: Trigonometric Ratios in All Quadrants 
For any angle θ in standard position, where 0º 
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 360º, 
with terminal point P(x, y) on a circle with radius r, the 
primary trigonometric ratios are defined as:
cos θ = 
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sin θ = 
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tan θ = 
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where r = 
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For an angle that is a multiple of 30º, 45º, or 60º, the exact values of the 
primary trigonometric ratios can be determined using the coordinates of the 
terminal point on the unit circle, which has radius r = 1. For example:
	To determine cos 210º, identify that the terminal arm of the angle lies in Quadrant 3, and the reference angle is: 210º – 180º = 30º
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The coordinates of the terminal point for 30º are 
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, so the coordinates of the terminal point for 210º are 
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. Since r = 1, 
cos 210º = x
 = 
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	To determine sin 315º, identify that the terminal arm of the angle lies in Quadrant 4, and the reference angle is: 360º – 315º = 45º
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The coordinates of the terminal point for 45º are 
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, so the coordinates of the terminal point for 315º are 
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. Since r = 1, 
sin 315º = y
 = 
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Check Your Understanding

1. Determine the exact value of each trigonometric ratio.

a) cos 120°
b) tan 135°
c) sin 240°
d) tan 150°
e) sin 300°
f) cos 270°
g) tan 240°
h) sin 225° 
i) tan 180°
j) sin 360°

Name: _____________________________________
Date: _______________________
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Master 6.1b
Activate Prior Learning: The Sine Law
For any ∆ABC, the Sine Law states that:
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	The Sine Law can be used to determine the measure of an angle when the lengths of two sides and the measure of a non-contained angle are known. For example: 
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To determine the measure of (Q, to the nearest degree, use: 
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Substitute: q = 3.8, (R = 54º, r = 5.5
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sin Q = 
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(Q = sin–1
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	The Sine Law can be used to determine the length of a side when the measures of two angles and the length of one side are known. For example: 
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To determine the length of CD, to the nearest tenth of a centimetre, use: 
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Substitute: (E = 32º, (D = 110º, 
d = 10.8
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Check Your Understanding
1.
In ∆GHJ, GH = 6.1 cm, GJ = 3.7 cm, and (J = 32º; determine the measure of (H 


to the nearest degree
2.
In ∆KMN, KM = 5.2 cm, MN = 7.8 cm, and (K = 99º; determine the measure of (M 


to the nearest degree
3.
In ∆STU, ST = 2.5 cm, (S = 56º, and (T = 69º; determine the lengths of SU and 

TU to the nearest tenth of a centimetre
Name: _____________________________________
Date: _______________________
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Master 6.1c
Activate Prior Learning: The Cosine Law

For any ∆ABC, the Cosine Law states that:

c2 = a2 + b2 – 2ab cos C
and 
cos C = 
[image: image28.wmf]222

2

abc

ab

+-


	The Cosine Law can be used to determine the measure of an angle when the lengths of three sides are known. For example: 
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To determine the measure of (Q, to the nearest degree, use: 
cos Q = 
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Substitute: p = 2.8, q = 4.7, r = 3.7
cos Q = 
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(Q = cos–1
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	The Cosine Law can be used to determine the length of a side when the lengths of two sides and the measure of the contained angle are known. For example: 
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To determine the length of CD, to the nearest tenth of a centimetre, use: 
e2 = c2 + d2 – 2cd cos E
Substitute: c = 3.3, d = 2.8, 
(E = 73º 
e2 = 3.32 + 2.82 – 2(3.3)(2.8) cos 73º
e = 
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Check Your Understanding

1.
In ∆STU, ST = 9.2 cm, TU = 7.6 cm, and SU = 5.4 cm; determine the measure 


of (U to the nearest degree
2.
In ∆KMN, KM = 6.4 cm, KN = 7.5 cm, and (K = 112º; determine the length of 


MN to the nearest tenth of a centimetre
3.
In ∆GHJ, GH = 3.1 cm, GJ = 4.2 cm, and HJ = 5.3 cm; determine the measures of 

(G, (H, and (J to the nearest degree


























































PAGE  

Master 6.1a


The right to reproduce or modify this page is restricted to purchasing schools.

This page may have been modified from its original. [image: image37.jpg]  Copyright © 2012 Pearson Canada Inc.

[image: image39.jpg]


[image: image40.jpg]P(x. %)

N2




_1388315718.unknown

_1388319270.unknown

_1388319930.unknown

_1388380720.unknown

_1388381613.unknown

_1388382027.unknown

_1388403501.unknown

_1388381668.unknown

_1388381543.unknown

_1388319991.unknown

_1388319834.unknown

_1388319313.unknown

_1388319391.unknown

_1388318011.unknown

_1388319143.unknown

_1388319224.unknown

_1388318480.unknown

_1388315880.unknown

_1388315909.unknown

_1388315850.unknown

_1388314537.unknown

_1388314619.unknown

_1388315526.unknown

_1388314618.unknown

_1388314407.unknown

_1388314516.unknown

_1388314382.unknown

